Practice Test A Ch 12: DNA and RNA_ Answer Key

1. b

2. d

3. c

4. c

5. b

6. d

7. d

8. a

9. a

10. c

11. a

12. c

13. c

14. c

15. b

16. nucleotide

17. amino acids

18. amino acid

19. lactose

20. gene

21.  a.  DNA polymerase bond to DNA

       b.  DNA unwinds and hydrogen bonds break between the bases (unzips)

22.  B, carries amino acids

23.  CGG, CGA, CGC, CGU, AGG, AGA

24.  it releases the operator because lactose bonds to the repressor

25.  possible evolutionary relationship (suggests a common ancestor)

26.  translation

27.  rRNA/ ribosome

28.  F (AUG)

29.  they are completmentary (base pairs) which helps put the amino acids in the correct order/ sequence to build a protein from the gene that was transcribed in the nucleus

30.  the next tRNA will bring the next amino acid to join phenyl alanine until a stop codon is reached on mRNA and the protein is finished translating.

31.  They put radioactive phosphorus 32 on viral (bacteriophage) DNA and radioactive sulfur 35 on the protein coat (capsid) of the virus (bacteriophage).  Then they allowed the virus to infect the bacteria.  They found radioactive phosphorus 32 inside the infected bacteria.  This was important because it proved that the infectious material of a virus is DNA.

32.  Double helix (twisted ladder)

- monomers of nucleotides 


- nucleotides have 3 parts (deoxyribose sugar, phosphate group, nitrogenous base)



- nitrogenous bases are adenine, thymine, guanine, cytosine

- covalent bonds (strong) hold the phosphate group and sugar together

- hydrogen bonds hold complementary bases together (A-T/ C-G)

33.  mRNA – copies gene in nucleus and carries message for making proteins (blueprint) to the ribosome in the cytoplasm

rRNA- makes up part of the ribosome where proteins are made

t$NA- carries the amino acids for building proteins

All- are made by transcription

34.  The phenotype is the expression of a gene which is the protein made by that gene.

Example:  the gene for brown hair color makes the protein melanin which appears brown.

35.  A deletion or Insertion causes a frameshift changing the entire gene after the point mutation, causin the wrong amino acid sequene and the wrong protein to be made.  A substitution only changes one base (letter) and may still code for the same amino acid.  The rest of the gene is unchanged.

MAKE SURE YOU STUDY YOUR YELLOW SHEET AND ADDITIONAL NOTES AS WELL.  GOOD LUCK!
